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Candidates are required to give their answers in their

own words as far as practicable.

lilustrate the answers wherever necessary.

Answer Q. No. 1 and any three of the following.

1. Answer any ten questions of the following : 10x1

{a) What is cross reaction ?

(b) Write the main cause of D.M. type-2.

{(Turn Quer)



12

(¢) What is the relationship between OD and hormone

concentration in s-ELISA?
(d) Write the thyroid pi’ofile in primary hyperthyroidism.

(e} Write the marker molecules used in FIA and CLIA for

labelling purpoée.

() What hormone is synthesized and seoreted from

adipose tissue ?
{g) What is the source of Insulipase in our body?

{h] Which counter you will use when antigen molecules
are labelled with C14?

{ij Write the full form of DIT.

(). What do you mean by autoimmune diabetes ?

(k) Which hormone is mainly responsible for ovuiation ?
{l What do you mean by teratorpermia?

{(m) Which enzyme is mainly used for labelling purpose for

antigen molecule in ELISA?
(n) What do you mean by cranisal diabetes mellitus ?

fo) Define infertility.
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(b}
tc)

{b)
{c})

(d)

(b)

c)

(b)

What do you mean by solid and liquid Phase ELISA?

Why ELISA is preferred over RIA?

Write the protocol of C-ELISA for the assessment of
any one hormone, _ 3+3+4
Why plasma glucose level is not consider as sensitive
indicator for the diagnosis of diabates mellitus ?
How will you acess the §-Cell status of Isletes?
Why female fertility is interfered by obese conditon ?

What is primary hypogonadism ? 3+2+3+2

Define primary hypothyroidism.

Write the status of pituitary-thyroidal axis in Goitre

state.

Write the mechanism of action of thiocyanate for
induction of goitre. 2+4+4
Define interassay and intraassay variations.

Why is hypogonadism noted in hyperadrenal

condition ?
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{c) Write any two major causes of female infertility.
(d) What do you mean by ahtisperm antibody ?
' 3434242
6. (a} What do you mean by hot and cold antigens ?
(b} Write the protocol of radialabelling of hormone.
{c} Write the principle of séintillation counter.

(d) State the nature of standard curve of e-ELISA and
s-ELISA. 2+3+3+2
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